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CHLFD APk miH b GUED) A PR RiH b CHLFD AXRFRE | #iH (GUED) AXFEE | miHk
HHa— 0 0 AHa—p 0 0 AHHa—py 0 0 AHHHa—py 0 0
R AE K | Mo 1,064 523 B R &% 3% | MEfHa— 5,325 -3,570 R A % | Mo 400 —140| #B 4R = % | Mo 2,840 ~960
s 1,064 523 i 5,325 -3,570 2 400 -140 s 2,840 -960
HHHa—L 141 50 HHHa—L 1,842 71 HHa—L 300 203 HHHa—v 527 -638
o 4R HEFHa—) 14,000 -168] Hi R | MEfHa- 28,803 -2,542 Mo $R | - 5,280 9,290 Hb 4R Mo 9,370 18,970
it 14,141 -118 &t 30,645 -2,471 &t 5,580  -9,087 &t 9,897| —19,608
HiHa—pn 20,861 5,589 HHa—n 150 0 A HHa— 24,172 5,076 FHHHa-v 150 0
f& #t | #EHa- 47,394 -11,031} {5 FE |#EHa-L 2,665 -693 & F6 |- 24,696| -22,065| {5 FE |MEfHa-n 0 0
s 68,255 -5,442 i 2,815 -693 2 48,868] 16,989 s 150 0
%5 FHHa—V 18,911 5,589 [5H HHa—n 0 0 b)5) A HHa—L 22,222 5,076] [©H HHa—n 0 0
& 15) |- 32,940 -6,642 #F 13) | a2y 0 0 B 17) |-y 11,296| -18,184 # f3) | MEfEa—y 0 0
&t 51,851 -1,053 it 0 0 &t 33,518 -13,108 it 0 0
AHHHa—y 0 0 HHHa—n 0 0 HHa—n 0 0 HHHa—n 0 0
s ER e o)y 40 40 # R | Mo 3,289 -2,497 s R | - 30 30] 4 R [MEHa-n 2,905 -1,591
s 40 40 i 3,289 -2,497 2 30 30 s 2,905 -1,591
HHHa—L 0 0 HHa—L 1,230 322 HHa—L 0 0 HHa—L 730 -90
2R MEFH 2y 1,987 566 FH2MigR | MEfHa—L 4,179 930 HoMigR | MEHHa- 1,760 490 FomndR | MEiHa- 1,100 -2,920
it 1,987 566 &t 5,409 1,252 Zt 1,760 490 &t 1,830 -3,010
HiHa—p 1,094 587 HHa—n 570 -46 HHHa—py 580 150 HHa—n 567 -9
544 | -y 257 -32| fFEavse | EEa—y 4,753 -1,234 B&we | EmHa—) 240 -205| 5444 | EHa—-y 3,937 -1,413
{54 2} 1,351 555 {54 =} 5,323]  -1,280 {54 =t 820 -55 {54 2} 4,504 -1,422
HHHa—-n 0 0 FHHa—) 0 0 HHa—y 0 0 AHa-n 0 0
ERRRE | - 2,989 3,171 EMRHE | EHa- 6 6 BRI | - 2,800 350 ARG | EHa-v 0 0
it 2,989 -3,171 it 6 6 &t 2,800 350 it 0 0
A 0 0 Hfda—pn 1,800 0 HHa—n 0 0 HHa—y 1,800 0
FE - FEA 3 | MEFHa—)L 0 3% RIEA %3 M a— 12,625 -1,480 I « FIE 4 356K MEHH o)) 0 OFiE - FIE4 353 MEFHa—)) 10,130 -4,725
s 0 -3 s 14,425 -1,480 2 0 0 s 11,930 -4,725
HHHa—-n 0 0 HHHa—-ny 0 0 HHa—y 0 0 HHa-p 0 0
R R EFH -V 2,203 933| £ | mHEa- 0 0 £ HE R | EHa- 3,000 2,000] A= 4B R | EHEa- 0 0
&t 2,203 933 it 0 0 Zt 3,000 2,000 it 0 0
HiHa—p -1 -1 Hia—pn 1,119 -34 HHHa—pn 0 0 Hia—pn 1,110 -30
oK) e o)y 2,085 -19] &= oM |- 10,374 -1,282 O | -y 1,735 -590] & o |EHa-V 9,659 1,159
s 2,084 -20 it 11,493 -1,316 3 1,735 -590 s 10,769 1,129
HHHa—L 22,095 6,225 HHHa—L 6,711 313 HHa—L 25,052 5,429 AHHa—v 4,884 -767
A Et MEFH 2y 72,019 -12,362] A& F EFH -V 72,019 -12,362 e S i B 39,941 -29,420] ¥ & FF | EEfHa-p 39,941| 29,420
it 94,114 -6,137 it 78,730 -12,049 it 64,993| -23,991 it 44,825 -30,187
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